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However, not on the Raishoh, and this is like Rav Pohpoh

Overview

X099 21 ruled that a X becomes liable for 101X, only when the 013X occurs (but not
from when he took possession of the item). The X713 cited a Xn>92 that if the X
died and left over the borrowed cow to his heirs, they are not liable for 701X. If they
mistakenly assumed it belonged to their father and slaughtered it and ate it, they must
pay the cheaper price for the meat. The Xn»12 concludes that if the father left over
property, the heirs are liable. According to one interpretation, the end of the Xn™ 2 is
referring to the last case (where the heirs ate it), but not to the first case (of 7°01R),
where the estate will not be liable for 701X even if the father left over property; and
this is in accordance with the ruling of X595 27, that there was never any obligation
on the father’s estate to pay for 101X, since during the father’s lifetime there was
no 011X, and his obligation begins only after the 011X happens. Therefore, the estate
is not liable for the 1018, which happened by the heirs. n1901n clarifies this issue.
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For we do not say that the "X is liable for the 12138 from the time it was
borrowed, but rather from the time the 013% happened (according to 5"9).

n1voIN asks:
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And if you will say; if indeed it is so (that there is no obligation on the father’s
estate until the time of the mishap), why do they pay even in the X2°0, when the

father left over an estate of property -
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Since the father’s estate never was liable, for nothing happened during the father’s
lifetime —

n10IN answers:
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And one can say; that there in the X950 (where they ate it) the father was
negligent, for he should have advised his sons that the cow is not his -

" Why is there a difference between the Xw™, where the estate is not liable (since no mishap occurred during the
father’s lifetime), and the X2°0 where the estate is liable (even though no mishap occurred during the father’s lifetime)?!
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So therefore, he was negligent while he was still alive, and at that time (when
he should have told them) he was liable, so his estate was subjugated to a lien.

Summary
When the heirs ate it, the father was a yv19 for not informing them that it is not his,

so his estate 1s 727 wn for the damage.

Thinking it over
What would be the ruling in a case where the father was yv19 (he did not inform

them that it is not his), however the heirs did not eat it, rather an 013 happened, is
the estate liable (since he was a yw19), or not (since his 7¥°wd did not cause any
loss)?2

% See X"2w" and YR 12K 790.

2
TosfosInEnglish.com



